

SUBTRACTION FRACTIONS

Solve the fraction problem and reduce the answer to simplest form:

$$\frac{6}{14} - \frac{2}{14} =$$

$$\frac{8}{18} - \frac{5}{18} =$$

$$\frac{3}{12} - \frac{2}{12} =$$

$$\frac{9}{16} - \frac{8}{16} =$$

$$\frac{8}{14} - \frac{3}{14} =$$

$$\frac{3}{9} - \frac{1}{9} =$$

$$\frac{5}{10} - \frac{2}{10} =$$

$$\frac{8}{15} - \frac{7}{15} =$$

$$\frac{8}{14} - \frac{7}{14} =$$

$$\frac{8}{12} - \frac{7}{12} =$$

SUBTRACTION FRACTIONS

Solve the fraction problem and reduce the answer to simplest form:

$$\frac{6}{14} - \frac{2}{14} = \frac{4}{14} \xrightarrow{\text{Reduce by 2 to Simplest Form}} \frac{2}{7}$$

$$\frac{8}{18} - \frac{5}{18} = \frac{3}{18} \xrightarrow{\text{Reduce by 3 to Simplest Form}} \frac{1}{6}$$

$$\frac{3}{12} - \frac{2}{12} = \frac{1}{12}$$

$$\frac{9}{16} - \frac{8}{16} = \frac{1}{16}$$

$$\frac{8}{14} - \frac{3}{14} = \frac{5}{14}$$

$$\frac{3}{9} - \frac{1}{9} = \frac{2}{9}$$

$$\frac{5}{10} - \frac{2}{10} = \frac{3}{10}$$

$$\frac{8}{15} - \frac{7}{15} = \frac{1}{15}$$

$$\frac{8}{14} - \frac{7}{14} = \frac{1}{14}$$

$$\frac{8}{12} - \frac{7}{12} = \frac{1}{12}$$